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QUESTION 1

Which two log levels can be set when configuring a logger in CDD? (Choose two.)
A. Warn

B. None

C. Agent

D. Off

Correct Answer: AC

QUESTION 2

Which three statements are true about the contents of a CDD file? (Choose three.)
A. It maps rules to agents.

B. It provides backing store concept-table mapping

C. It defines thread pools for handling destinations.

D. It defines Global Variables for the project.

E. It defines the object management mode used.

Correct Answer: ACE

QUESTION 3

Which three statements are true about a Virtual Rule Function (VRF)? (Choose three.)

A. Signatures of VRFs are added to TIBCO BusinessEvents projects by technical users.

B. Signatures of VRFs are added to CDD files by technical users.

C. Business users implement the VRF using the Decision Studio interface.

D. Business users implement the VRF using the Monitoring and Management interface.
E. One VRF can have more than one decision table.

F. One VRF can have only one decision table.

Correct Answer: ACE
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QUESTION 4

Which two channels represent configurable physical connections to a resource? (Choose two.)
A.IMS

B. FTP

C.HTTP

D. Local

Correct Answer: BD

QUESTION 5

Which two statements are true about transitions in a State Model? (Choose two.)
A. A Lambda transition moves the State Model to the next state (or its entry action).
B. A transition can connect a state to itself.

C. Concurrent states can optionally use boundary transitions.

D. There can be multiple outbound transitions but only one inbound transition.

Correct Answer:. AB
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